11”128 (Kl 1”128)

Linearized knot diagam

58 >4 —>17—-2—>3—>6—>11—>9 — 10 —> €3,C5,C9
Cy4 Ccr &1 C2 Ce C11 cg C10

Ideals for irreducible component#ﬂ)f Xpar

I = (9.89687 x 10™0u*" — 1.71588 x 107w + - - + 5.00890 x 10'7b — 1.23096 x 10*%,
2.33797 x 1043 +9.75324 x 107430 4 - - - + 5.00890 x 10'7a + 3.69251 x 10'8, 432
I3 = (—7u'® — 40 + 22u® — 29u® + 17u® + 14u* — Tu® + 3u® + 13b — Ju — 1,
17u® + 61 — 59u® + 26u” + 63u’ — 71u® 4 18u? + 17u® — 50u? + 39a + 59u — 31,
utt —4u® 4+ u® + 6u” — 4u® — 3u® + 4ut — v 4w +u—3)

— WA 4

* 2 irreducible components of dim¢ = 0, with total 43 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.

1

= 12u+1


http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

L.
I = (9.90 X 10"6u3' —1.72 x 10743 4. .- 4+ 5.01 X 10176 — 1.23 X 10’8, 2.34 X
1016431 4-9.75x 1074304+ . . 45.01 X 10'7a+3.69x 108, u32—u3'+...—12u+1)

(i) Arc colorings

- ()
)

ag =

ay =

)

—0.0466763u3! — 1.94718u30 + - - - + 64.5722u — 7.37190
—0.197586u! + 0.342566u3° + - - - — 13.4573u + 2.45755

—u +u)

—0.590773u3! — 1.76202u%0 + - - - 4+ 59.4915u — 6.72272 >

ag = ( 0.199663u?" + 0.213550u*° - - - - — 14.7748u + 2.74780

a1 =
a7 =

az = \ —2.66133u3! — 0.797429u*° + - - - — 30.9601u + 3.50979

—1.93811¢3 — 0.942980u%0 + - - - — 25.2538u + 6.08360)

4.28025ut + 0.484730u + - - - 4 54.0490u — 3.93592 )

1.07477u3t + 0.752123u3% + - - - + 0.523274u + 0.239711

—0.244262u3" — 1.60461u%0 + - - - 4+ 51.1148u — 4.91435
—0.197586u! + 0.342566u3° + - - - — 13.4573u + 2.45755

3.39545u3! — 1.12542u3% + - - - + 65.7600u — 9.37715
0.771918u3! — 0.0178954u3° + - - - + 15.0150u — 1.00246

0.828985u3 — 1.68179u30 + - - - + 60.1743u — 5.88389
a0 = \ —0.589274u3! 4 0.367301u30 + - - - — 15.2775u + 2.48408

0.828985u3! — 1.68179u3° + - - - 4+ 60.1743u — 5.88389
a10 = \ —0.589274u3! + 0.367301u30 + - - - — 15.2775u + 2.48408

(ii) Obstruction class = —1

(iii) Cusp Shapes __ _1330608910123401616 31 4 476105635560304404 30 4.

15381 & 4 45381 ¢
27689584720904947212 4 917%({%%%91%%5781%%% %38 50089049586794538
500890495867945381 500890495867945381




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cq Wt 4 —20u+1

€2 w3 4T o = 80u+ 1

€3 u3? — 28030 4 - 4+ 154w + 43
c4,Cr w4 et 4+ 12u+ 1

Cs u3? — 23t + - 4 2606w + 1291

s w3+ 9udt o+ 260+ 1

Co u3? 4+ 4ut - — 26960 + 589

c10 u?? — 3uP + -+ — T138u + 3929

c11 w3 4203 - 340+ 19




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1, co y32+47y31+..._80y—|—1
ca y*? —117y°" + - 4 5428y + 1
cs y32 — 5633 + -+ + 323982y + 1849
CasCn y32_25y31+..._34y+1
s Y32 2493 + ... 4+ 12176136y + 1666681
s y32+9y31+..._248y—|—1
c 32 31
9 Yoo —62y°" + - - 4+ 1792760y + 346921
o ¥ + 37y + -+ 4 205149034y + 15437041
1l y32 _ 10y31 + .- — 3322y + 361




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.138542 + 1.0563301
= —0.033005 — 0.1999711
= 0.733437 + 0.3653941

—1.06384 — 2.019891

—6.33778 + 3.450231

= 0.138542 — 1.0563301
= —0.033005 + 0.1999711
= 0.733437 — 0.3653941

—1.06384 + 2.019891

—6.33778 — 3.450231

= —0.170624 + 1.1627801
= 0.216364 + 0.0799871
= —1.081780 + 0.6983881

—11.45540 4 6.476251

—4.15728 — 4.268911

= —0.170624 — 1.1627801
= 0.216364 — 0.0799871
= —1.081780 — 0.6983881

—11.45540 — 6.476251

—4.15728 + 4.268911

1.195330 + 0.2302171
—1.244340 — 0.0389791
= 1.100620 + 0.6179501

—2.64686 — 1.184371

—3.89291 + 0.664671

1.195330 — 0.2302171
= —1.244340 + 0.0389791
= 1.100620 — 0.6179501

—2.64686 + 1.184371

—3.89291 — 0.664671

= 1.219350 4+ 0.0773931
1.81848 + 0.386451
= —1.37078 — 1.243261

—4.27477 — 2.336891

—7.63645 + 2.314121

1.219350 — 0.0773931
1.81848 — 0.386451
—1.37078 + 1.243261

—4.27477 + 2.336891

—7.63645 — 2.314121

—1.223500 + 0.038660.1
1.51818 — 0.661511
—0.815453 — 0.1429411

—5.17336 + 1.791081

—9.36406 — 4.299451

= —1.223500 — 0.0386601
= 1.51818 4+ 0.661511
= —0.815453 + 0.1429411

> Q& €|l & €|l & €| Q& €| Q& €| Q@ &l Q& €|l & €|l & €| & &
I

—5.17336 — 1.791081

—9.36406 + 4.299451




Solutions to I7*

V=1(vol + y=1C)

Cusp shape

= 0.535771 + 0.5509451
—0.124257 — 0.5199841
0.049461 + 0.6048001

—0.34099 — 1.528931

—0.59741 + 5.963001

0.535771 — 0.5509451
= —0.124257 + 0.5199841
0.049461 — 0.6048001

—0.34099 + 1.528931

—0.59741 — 5.963001

—1.197230 + 0.30384471
= —1.37383 — 0.465241
0.874051 — 0.767936.1

—1.91400 + 4.838661

—2.54787 — 6.950161

—1.197230 — 0.3038441
—1.37383 + 0.465241
0.874051 + 0.7679361

—1.91400 — 4.838661

—2.54787 4+ 6.950161

1.224970 + 0.1595501
—2.65656 — 0.992461
0.670400 + 0.1743631

—13.62100 — 1.880591

—11.51732 4 4.176181

1.224970 — 0.1595501
—2.65656 + 0.992461
0.670400 — 0.1743631

—13.62100 4 1.880591

—11.51732 — 4.176181

—1.295740 4 0.1614021
—1.07414 — 1.174041
1.19979 + 1.833481

—14.4931 + 2.63991

—9.17083 — 2.920281

—1.295740 — 0.1614021
—1.07414 + 1.174041
1.19979 — 1.833481

—14.4931 — 2.63991

—9.17083 + 2.920281

—0.162858 + 0.6392401
—0.550882 — 0.4482371
—0.529074 — 0.4225271

1.26710 — 1.271221

4.54373 + 1.021581

—0.162858 — 0.6392401
= —0.550882 + 0.4482371
= —0.529074 + 0.4225271

>~ Q@ €| Q@ €|l & €| & &8 Q& 8|l & 8|l & 8|l & 8|l & 8| o g
|

1.26710 + 1.271221

4.54373 — 1.021581




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u = —1.36987 + 0.421191
a = 1.53053 — 0.023911
b= —1.37290 + 0.815771

—5.87267 + 7.089411

—7.09677 — 5.047801

u = —1.36987 — 0.421191
a= 1.53053 4 0.023911
b= —1.37290 — 0.815771

—5.87267 — 7.089411

—7.09677 + 5.047801

u= 134905+ 0.497881
0.892282 — 0.609676.1
—0.839959 — 0.3080021

—5.07213 — 3.711631

—7.67058 + 3.052841

= 1.34905 — 0.497881
= 0.892282 4 0.6096761
—0.839959 + 0.3080021

—5.07213 + 3.711631

—7.67058 — 3.052841

0.082800 + 0.4717231
2.20738 + 1.657651
—0.762439 + 0.9300351

—10.18920 — 0.379721

—2.16269 — 0.175731

0.082800 — 0.4717231
2.20738 — 1.657651
—0.762439 — 0.9300351

b
U
a
b
U
a
b
U
a
b

—10.18920 4 0.379721

—2.16269 + 0.175731

u= 144332 + 0.488951
a = —1.65118 4+ 0.160771
b= 1.38562 + 0.964931

—16.5743 — 12.26191

—6.15908 + 5.488951

u= 144332 — 0.488951
a = —1.65118 — 0.160771
b= 1.38562 — 0.964931

—16.5743 4+ 12.26191

—6.15908 — 5.488951

u = —1.43379 + 0.692511
a = —0.605697 — 0.6697831
b= 1.042800 + 0.1786451

—15.2091 + 0.27931

—8.54524 4+ 0.1

u = —1.43379 — 0.692511
a = —0.605697 + 0.6697831
b= 1.042800 — 0.1786451

—15.2091 — 0.27931

—8.54524 4+ 0.1




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.164476 + 0.0763901
1.63068 + 3.688971
0.716191 — 0.6380891

—1.10961 + 1.487621

—5.18747 — 2.413831

0.164476 — 0.0763901
1.63068 — 3.688971
0.716191 + 0.6380891

—1.10961 — 1.487621

—5.18747 + 2.413831




II. 1Y =
(=7u'®—4u®+...-4+13b—1, 17u'®+6u’+---4+39a—31, u't —4u®+..-+u—3)

(i) Arc colorings

w0
?

ag =

)

—0.435897u'? — 0.153846u° + - - - — 1.51282u + 0.794872)

ay4 =

ar = \0.538462u'" 4 0.307692u® + - - - + 0.692308u + 0.0769231

—u +u)

0.487179u!? — 0.769231u° + - - - 4+ 1.10256u — 0.358974 )

a2 = (O 384615u'® + 0.0769231u” + - - - — 0.0769231u + 0.769231

a7 =

1.12821u'" — 1.30769u° + - - - + 4.97436u — 3.41026
—0.153846u'? + 0.769231u" + - - - — 1.76923u + 2.69231

—0.641026u'" 4 0.538462u° + - - - — 1.87179u + 2.05128
—0.461538u'? 4 0.307692u° + - - - — 1.30769u + 1.07692

0.102564u'° + 0.153846u° + - - - — 0.820513u + 0.871795 )

az =
ag =

0.538462u'% + 0.307692u” + - - - + 0.692308u + 0.0769231

—0.205128u'? 4 0.692308u° + - - - — 0.358974u + 0.256410
—0.461538u'? 4 0.307692u° + - - - — 0.307692u + 0.0769231

—0.897436u'° + 0.153846u° + - - - — 2.82051u + 0.871795
0.538462u'° + 0.307692u” + - - - + 1.69231v + 0.0769231

—0.897436u10 4 0.153846u° + - - - — 2.82051u + 0.871795
a10 = \ 0.538462u9 + 0.307692u? + - - - + 1.69231u + 0.0769231

a0 =

(ii) Obstruction class =1

(iii) Cusp Shapes
25.10 _ 5 73,8 .7 _ 85 6 5, 63,4 38 3 32,2 8 63
—13U 13“ + U —ul - pu + 13“ + Ut — Ut — 53 13 13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! ult + 6u® + 13u” + 15u° + u* + 9u® 4+ 20 4+ 3u + 1
€2 w1200 4 Bu -1
s ult —ut® — 30 — 3u® +u” 4+ Tub 4+ 120° + 150t + 110 + Tu® 4 3u + 1
¢4 ult —4u® +ud + 6u” —4u® —3uS + dut — P Ut +u—3
¢ utt =t ud — 4"+ —dut 4203 fu— 1
6 ult + 6u® + 13u” + 15u° — u* + 9u® — 20 4+ 3u — 1
¢t utt —4u® —u® + 60" +4u® —3u® —dut — P -+ u+3
s utt + 20t + 0 — 4u® — 60" — 28 + 9u® + 13ut + 9ud + 20 —u —1
€9 utt —9utl o 17w —3
€10 u' 200 + 50 4+ 4 0" — b — 6ud + 4ut — 20 + 3u —3u+1
c11 el 2 4 S At Wl w1

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
€15 Co y' +12y"0 4 5y — 1
C2 ytt =200 4. 4121y — 1
c3 gt Ty sy -1
C4,C7 gt =8yt Ty -9
cs gyl 4 7y 4 998 + 1407 4 6y° + 170° — 6yt + 6y% — 4y +y— 1
cs gt — 2410 4 5y° — 248 4 47 4+ 43y° + 5yt + TyP + 4y% + 5y — 1
Co g9y 435y —9
c10 Yt 46yt + 119° — 1498 — 7197 — 83y5 — 1845 + 18y — 5yt + 3y — 1
e gt =yl 4 4y® — 648 4 6y7 — 17y% — 645 — 14yt — 9y® — T2 —y — 1

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

0.704223 + 0.7992051
= 0.198244 + 0.6883711
0.482497 — 0.4322131

—0.834177 — 0.6644271

—5.62999 — 1.848171

0.704223 — 0.7992051
0.198244 — 0.6883711
0.482497 + 0.4322131

—0.834177 - 0.6644271

—5.62999 4 1.848171

—1.113080 + 0.2521471
1.50946 + 0.638871
—0.266277 — 0.7651841

—12.65170 4 1.148691

—5.06516 + 0.050511

—1.113080 — 0.2521471
1.50946 — 0.638871
—0.266277 + 0.7651841

—12.65170 — 1.148691

—5.06516 — 0.050517

1.130350 + 0.3027801
0.836611 + 0.0610281
= —0.722191 — 1.0913901

—2.43632 — 3.363771

—4.69391 + 3.635981

1.130350 — 0.3027801
= 0.836611 — 0.0610281
—0.722191 + 1.0913901

—2.43632 + 3.363771

—4.69391 — 3.635981

—0.064226 + 0.7864821
0.158980 — 0.2132321
—0.735500 — 0.606796.1

0.44585 — 2.190551

—0.27735 4 4.502551

—0.064226 — 0.7864821
0.158980 + 0.2132321
—0.735500 + 0.6067961

U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

0.44585 + 2.190551

—0.27735 — 4.502551

uw= 1.29327
a = —1.68071
b= 1.36323

—4.68995

—8.42500

u = —1.303900 + 0.3749561
a = —1.69628 — 0.112407
b= 1.059850 — 0.7661991

—3.56282 + 6.449131

—4.62110 — 5.907241

12



Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

U
a
b

—1.303900 — 0.3749561
—1.69628 + 0.112401
1.059850 + 0.7661991

—3.56282 — 6.449131

—4.62110 + 5.907241

13



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u't + 6u” + 13u” + 150° + u* + 9u® + 2u? + 3u + 1)
(WPt = 20u 1)
C2 ('t + 1200 4 4 Bu — 1) (u®? + 470 4 — 80u + 1)
cs ('t —u'® — 3u® — 3u® + u” 4 Tub + 120° + 15u* + 110 4 Tu® + 3u + 1)

. <u32 — 9830 4+ -+ 154u + 43)

4 (u't — 40 +u® 4+ 6u” — 4u® — 3u® + 4u? — v +u? +u—3)
(PPt o+ 120+ 1)

cs (ut — w0 40 —ud 4" F U — et 20— 1)

. <u32 — 93t + -+ 2606w + 1291)

ce (utt + 6u° + 13u” + 15u® — u* + 9u® — 2u? + 3u — 1)
(WPt = 20u 1)
cr (' — 4u® —u® 4+ 6u” + 4u® — 3u® — 4u? —uP —u? +u+3)

(WP Pt 120+ 1)

cs (u't + 20! + o — 4u® — 6u” — 208 + 9u® + 13ut + 9uP + 2u? —u — 1)
(WP 49Ut 4 4 260+ 1)

Co (u —9u' - 4 17w — 3) (u®? + 4P + - — 2696u + 589)

(u' + 2u' + 50° 4+ 4u® + u” — ub — 6u® + 4ut — 2u3 + 3u® — 3u+ 1)
S(u®? = 3udt - — T138u + 3929)

C10

(u't +ut® 4+ 208 +4u” F b At P P u 1)
(WP 4203t - 4 34u + 19)

C11

14



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1, o (" + 129"+ + 5y — (Y + 4Ty - =80y + 1)
C2 (' — 2010 + -+ 121y — 1) (5% — 1179% + - - - 4 5428y + 1)
€3 ('t — 7yl 4 — By — 1) (y%? — 565t + - - + 323982y + 1849)
Ca, 07 (y" =8y Ty — (2 — 253 - — 34y + 1)
cs (" + 4"+ Ty + 9% + 14y" +6y° +1Ty° — 6y* + 6y —4y” +y — 1)
(Y% 4 2493 4+ -+ + 12176136y + 1666681)
cs (y"' — 29" + 5y — 20° + 4y" +43y° + Byt + Ty’ + 4y® + By — 1)
(PP 49y - — 248y 4+ 1)
Co (yt — 9yt + ... — 35y — 9)(y3% — 623 + - - + 1792760y + 346921)
10 (™ + 6910 + 1197 — 1498 — 719" — 83y5 — 18y° + 18y° — 5y2 + 3y — 1)
(3% 4 373 4 - - 4+ 205149034y + 15437041)
e (" =y + 4y — 6y° + 6y" — 17y° — 6y° — 1y" — 9y® — Ty? —y — 1)

(P — 10y 4 - - — 3322y + 361)

15



